
Hoeveel is het samen? T/m 10.000

Oefening 1

1. 2.000
+
900
+
30
+
6 =

2. 5.000
+
400
+
60
+
6 =

3. 7.000
+
100
+
80
+
3 =

4. 9.000
+
700
+
60
+
1 =

5. 6.000
+
100
+
40
+
7 =

6. 8.000
+
200
+
10
+
9 =

7. 1.000
+
300
+
80
+
7 =

8. 4.000
+
500
+
30
+
9 =

9. 5.000
+
700
+
50
+
1 =

10. 5.000
+
700
+
80
+
6 =

Oefening 2

1. 5.000
+
800
+
70
+
9 =

2. 3.000
+
400
+
50
+
3 =

3. 4.000
+
200
+
90
+
1 =

4. 3.000
+
500
+
60
+
7 =

5. 5.000
+
500
+
50
+
6 =

6. 1.000
+
600
+
50
+
6 =

7. 9.000
+
200
+
60
+
9 =

8. 6.000
+
700
+
50
+
5 =

9. 7.000
+
200
+
80
+
1 =

10. 2.000
+
200
+
60
+
5 =

Oefening 3

1. 8.000
+
600
+
70
+
9 =

2. 8.000
+
300
+
30
+
2 =

3. 6.000
+
700
+
40
+
1 =

4. 5.000
+
500
+
20
+
9 =

5. 8.000
+
200
+
50
+
1 =

6. 2.000
+
700
+
70
+
3 =

7. 4.000
+
500
+
50
+
5 =

8. 4.000
+
800
+
80
+
7 =

9. 2.000
+
100
+
20
+
4 =

10. 1.000
+
800
+
30
+
1 =

Oefening 4

1. 2.000
+
700
+
70
+
9 =

2. 3.000
+
500
+
60
+
7 =

3. 4.000
+
200
+
90
+
7 =

4. 9.000
+
900
+
50
+
4 =

5. 6.000
+
600
+
40
+
2 =

6. 7.000
+
400
+
90
+
1 =

7. 3.000
+
200
+
10
+
2 =

8. 8.000
+
700
+
50
+
1 =

9. 1.000
+
200
+
10
+
1 =

10. 6.000
+
700
+
40
+
4 =
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Oefening 1

1. 2.000
+
900
+
30
+
6 = 2.936

2. 5.000
+
400
+
60
+
6 = 5.466

3. 7.000
+
100
+
80
+
3 = 7.183

4. 9.000
+
700
+
60
+
1 = 9.761

5. 6.000
+
100
+
40
+
7 = 6.147

6. 8.000
+
200
+
10
+
9 = 8.219

7. 1.000
+
300
+
80
+
7 = 1.387

8. 4.000
+
500
+
30
+
9 = 4.539

9. 5.000
+
700
+
50
+
1 = 5.751

10. 5.000
+
700
+
80
+
6 = 5.786

Oefening 2

1. 5.000
+
800
+
70
+
9 = 5.879

2. 3.000
+
400
+
50
+
3 = 3.453

3. 4.000
+
200
+
90
+
1 = 4.291

4. 3.000
+
500
+
60
+
7 = 3.567

5. 5.000
+
500
+
50
+
6 = 5.556

6. 1.000
+
600
+
50
+
6 = 1.656

7. 9.000
+
200
+
60
+
9 = 9.269

8. 6.000
+
700
+
50
+
5 = 6.755

9. 7.000
+
200
+
80
+
1 = 7.281

10. 2.000
+
200
+
60
+
5 = 2.265

Oefening 3

1. 8.000
+
600
+
70
+
9 = 8.679

2. 8.000
+
300
+
30
+
2 = 8.332

3. 6.000
+
700
+
40
+
1 = 6.741

4. 5.000
+
500
+
20
+
9 = 5.529

5. 8.000
+
200
+
50
+
1 = 8.251

6. 2.000
+
700
+
70
+
3 = 2.773

7. 4.000
+
500
+
50
+
5 = 4.555

8. 4.000
+
800
+
80
+
7 = 4.887

9. 2.000
+
100
+
20
+
4 = 2.124

10. 1.000
+
800
+
30
+
1 = 1.831

Oefening 4

1. 2.000
+
700
+
70
+
9 = 2.779

2. 3.000
+
500
+
60
+
7 = 3.567

3. 4.000
+
200
+
90
+
7 = 4.297

4. 9.000
+
900
+
50
+
4 = 9.954

5. 6.000
+
600
+
40
+
2 = 6.642

6. 7.000
+
400
+
90
+
1 = 7.491

7. 3.000
+
200
+
10
+
2 = 3.212

8. 8.000
+
700
+
50
+
1 = 8.751

9. 1.000
+
200
+
10
+
1 = 1.211

10. 6.000
+
700
+
40
+
4 = 6.744
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